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Ex:(xYy9 - (x+Hy+0.2 =1
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Gaussian Elimination for augmented matrix.
Idea:take linear combinations ofequations/ rows-

to simplifythe problem

3 row
-
ous (to the augmented matrix)

Type I row op:switch two rows

- I- :muli, a row by a nonzero scalar.
- --- : multiply a row by a scalar then

add it to another row
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General processexample:
-

goal?
arrive at (08() x
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subgoal---- (8)



Ex:x +2y - z =0E 24 - z = 1
x+3z = - 1

-O:get the augmented matrix
-

I⑪? )

*p):
seart with the 1stnonzero column

(a) do type I op, so thatthe 1st row in this
column is nonzero

(b) then do typeI op, so
thatthis number 1.



nonzero entries In this column
V,V3-41 DoMorToroaa
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#3 :

do similar things to the submatrix
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our subgoal.

final Step:2 options
①get !::)

bymore types
operations.

② solve by substitution (work from bottom

13 =z=0 to top. I
r2-
~ - =i
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